A & 0l & AFE B Al A

20238 =0ia LS AIAH

M AXH
H: HNHAAH|(AIEH)
chel: Jl2Ad| (CHl: X 21)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
AN&EH 436,730 436,230 500
SHH2AEZHI(AIEH) 107,250 106,750 500
[=2ZHl 107,250 106,750 500
J|12&l 107,250 106,750 500
201 et 3| 60,330 59,830 500
01 AtR2elt] 33,330 33,330 0
Oget=2H| 33,330
DISMRES 100,000 170! 1,700
OAFRD1D] & HAMLARE 6,200,000 6,200
0JIEH2ZHI 12,000,000 12,000
025 A A2EFL
150, 0002 * 1404 & 2,100
0Y=2| 30,0002%101x152 450
SICHYRFE A
8,000& *1721%80A! 10,880
02 2323 H| 27,000 26,500 500
OZ232= 2 MAl 14,500
0RERZ 4,000,000 4,000
0XIIR3 9,000,000 9,000
022 2 HA213 1,500,000 1,500
OH =t 1,500,000& 1,500
OB AN E =X 4,000,000 4,000
Oy =L IN: ]! 7,000,000 7,000
202 o4t 46,920 46,920 0
01 =LHOHI 46,920 46,920 0
OJ 2R+ 0t|
200,00024%1701x 128 40,800
O&S0itl 30,0004 1701x 12 6,120
HHYTX2A(AIEH) 10,880 10,880 0
PAEEZH 10,880 10,880 0
Q2 A 10,880 10,880 0
203 PRF=&H| 10,880 10,880 0
01 J|2A2FARFNH| 6,600 6,600 0
OJ|2A2ZHAR=E 6,600,000 6,600
02 HRIMHRFXY| 680 680 0
ORI RFH 40,000& 172! 680
04 EA2IHRFEHI 3,600 3,600 0
ORNSIHARFA 300,000 %12 3,600
ANEEH 2 168,600 168,600 0
ScBARI 2| 161,100 161,100 0
SclptEEs=2a 161,100 161,100 0
301 LBIEEZ 161,100 161,100 0
07 S& - 01 - BHEES24 161,100 161,100 0
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